my; [GeV]

L [GeV 1]

adm

= [pb/GeV]

20, 30]
(30, 50]
(50, 76]
[76,106]
106, 130]
130, 170]
[170 260]
[ ]

(3.44 £+ 0. 042 & 0.14) x1073
(5.338 + 0.033 + 0.101) x10~3
(7.656 + 0.034 + 0.144) x1073
(7.475 + 0.037 + 0.123) x10~3
(5.446 + 0.031 + 0.042) x10~3
(3.481 + 0.019 + 0.041) x10~3
(1.342 + 0.007 + 0.02) x10~3
(1.149 + 0.01 £ 0.021) x10~*4

(3.903 £ 0.048 + 0.337) x10~2
(6.058 + 0.041 £ 0.419) x1072
(8.688 + 0.042 + 0.608) x 102
(8.482 + 0.049 + 0.482) x1072
(6.18 4 0.038 £ 0.372) x10~2
(3.95 4 0.022 £ 0.233) x102
(1.523 + 0.009 + 0.091) x 102
(1.304 £ 0.012 + 0.081) x10~3



